
Vocabulary (Substitution)

Instructions: the following sentences have an underlined word or phrase followed by
alternatives A-D. Choose the word/phrase that best corresponds with the meaning of the
underlined word or phrase.

1. The AU meeting to be held next month is expected to pass resolutions pertaining to the
relationship between the two warring parties. We are looking forward to it.

A. mediation

B. seminar

C. summit

D. cluster



A. mediation

Incorrect Try Again



B. seminar

Incorrect Try Again



C. summit

Correct Next Question

Explanation: The Correct answer is C. Summit - A summit is a high-level meeting, typically
between leaders of countries or organizations.



D. cluster

Incorrect Try Again



2. AIDS patients used to be alienated for having HIV in their blood. Today, however, things have
changed and they are treated like any healthy person.

A. preserved

B. stigmatized

C. disappointed

D. involved



A. preserved

Incorrect Try Again



B. stigmatized

Correct Next Question

Explanation: The Correct answer is B. stigmatized - To be stigmatized is to be marked or
branded as something undesirable.



C. disappointed

Incorrect Try Again



D. involved

Incorrect Try Again



3. They kept trying hard to bring him to the position of chairmanship. Unfortunately, however,
members chose someone else so much unexpected.

A. working

B. struggling

C. manipulating

D. propagating



A. working

Incorrect Try Again



B. struggling

Correct Next Question

Explanation: The Correct answer is B. struggling - To struggle is to make a strenuous effort to
accomplish something.



C. manipulating

Incorrect Try Again



D. propagating

Incorrect Try Again



4. The troop opened an attack on the enemy in a bid to capture the garrison. I know it is not
going to take long.

A. launched

B. realized

C. dropped

D. designed



A. launched

Correct Next Question

Explanation: The Correct answer is A. launched - To launch an attack is to initiate it.



B. realized

Incorrect Try Again



C. dropped

Incorrect Try Again



D. designed

Incorrect Try Again



5. It appears the combined effort exerted by the team significantly contributed to their success. In
fact, we need to take a lesson and reshape our strategy.

A. disarray

B. power

C. synergy

D. dismay



A. disarray

Incorrect Try Again



B. power

Incorrect Try Again



C. synergy

Correct Next Question

Explanation: The Correct answer is C. Synergy - Synergy is the combined effect of two or more
forces or agents that produce a result greater than the sum of their individual effects.



D. dismay

Incorrect Try Again



6. Unless viable solutions are sought for our development problems, the people will keep
suffering under poverty. So, let us get together find the way out.

A. sensible

B. productive

C. promotable

D. sustainable



A. sensible

Incorrect Try Again



B. productive

Incorrect Try Again



C. promotable

Incorrect Try Again



D. sustainable

Correct Next Question

Explanation: The Correct answer is D. Sustainable - Sustainable solutions are those that can be
maintained over a long period without causing harm to the environment or depleting resources.



7. Clean: Dirty; Controlled: ________________

A. Rampant

B. Stagnant

C. Extended

D. Expanded



A. Rampant

Correct Next Question

Explanation: The Correct answer is A. Rampant - Clean is the opposite of dirty, so controlled
should be the opposite of something that is out of control.



B. Stagnant

Incorrect Try Again



C. Extended

Incorrect Try Again



D. Expanded

Incorrect Try Again



8. Pen: Write; Rubber: ______________

A. Remove

B. Eliminate

C. Erase

D. Sweep



A. Remove

Incorrect Try Again



B. Eliminate

Incorrect Try Again



C. Erase

Correct Next Question

Explanation: The Correct answer is C. Erase - A pen is used for writing, so a rubber is used for
erasing.



D. Sweep

Incorrect Try Again



9. Algebra : Calculus :: ______ : Surgery

A. Anatomy

B. Knife

C. Doctor

D. Hospital



A. Anatomy

Correct Next Question

Explanation: The Correct answer is A. Anatomy - Algebra is a prerequisite for calculus, and
anatomy is a prerequisite for surgery.



B. Knife

Incorrect Try Again



C. Doctor

Incorrect Try Again



D. Hospital

Incorrect Try Again



10. Cup: Lip:: Bird: ______________

A. Bush

B. Grass

C. Forest

D. Beak



A. Bush

Incorrect Try Again



B. Grass

Incorrect Try Again



C. Forest

Incorrect Try Again



D. Beak

Correct

Explanation: The Correct answer is D. Beak - A beak is the projecting part of a bird's head.

THE END


